#

@
e

m R

p==N
I%E - &% BHoO® HE | HMu " &
BREE RRERE ARM
FHEEEER ; (50=N<100)
0.33 (7%
RihkE (EHRBROH)
23 B LA 81 15
EHRBR (BEDEEE)
2<Ls5h 19 15
EHRBR (BEDEBEE)
5<L=10 20 15
EHRBR (BEDEEE)
10<L=15 10 15
EHRBR (BEDBBEUN)
12.3 H
EHARFAEER ; (L<10m)
23 B LA 27.7 H
EHREAEER; (L=10m)
23 B LA 32.7 H
WESIER
L<10m; 4.38. L=10m; 3.18H 0.33 =®
HEHE (EREBHER
FRTEE2E 0.33 | %%
HEE (EREEHER
EFAT. AR 1.0 | %%
O—J79 X FHE - #{E
FREOE., KB1E. XB8SER. RIFESER 4 15
EEREE
REXBE
REXBE
1 X
ZTOMEERE
HWEE
B RBREER 8gim 62.4%2/8
EXEHI6m. HEHE E200kg 2.9 H |@mBzygmen 1.48
EATEREIEER 8gim 21.8%2/8
7 -0E EERSI0mRE., BET 9E 0.8 B |[Emeuvimen 1.48
A—J7 0t XARARE
BEB9E (D—J70tX)
BREOE. KB1E. XB8SER. RFESER 1 =X

R _HERER (FRH 4]

1

/

2



I - & ]o® #®=E | B & &
RiAEE (A—TT7I £ X)
SEnk kPN 154 1.0 =]
RiAEE (A—TT7I £ X)
REBIE. KOS EF. KEBSER ANBRAK 3.0 =]
#HEHN (-7 €X)
REOIE. KA1E. KASEE. KEESEE 5.0 | A-H
BITHE (O—F 75 €R)
REOE. Ka1E. KASHEE, XEESER 24 1| =&
54 FNVEBEE (O—T701X)
REOME. Ka1E. KASHEE, XEESER 24 1 o
BHE (OA—J79+R)
REOIE. KA1E. KASEE. KEESEE 15 =
-1
RBHFEEHREB
8| A-H
TEEE EHHE 1A
0.36 X (ERERHE
REMBT (FRE - BE)
9 B 10/84 Y 0.714A
R BIERE
FI il S A &
3 0

R _HERER [(ART Z4] 2

/

2



